EEREREMEHRE=A) VAT (REEUEEREFE11E)FER
(ERK30E8A16B~10A3HEH)

RF N EE B0 RAED (RUHRYD
BERKEAEARR (RFHYD

BESE 22 R 5 8 B SE B 1 Sv/h)
No. | HETH 3 SR BE | S0om BieAR bl (b - 4JB Q) T 1) i
bl 5 giom | 4m | miom | 4m | =miom
~ 50cm 0.10 0.12 0.09 0.09
150 | ERILT Z0i BB FEEXERBJOEOYE | 8178 [ERES] ®L
1im 0.11 0.11 0.09 0.09
B 50cm 0.08 0.07 0.08 0.09
151 | BRI Z0i = ch IR B AR IR 8H17H [ERES] ®L
1im 0.08 0.09 0.07 0.08
50cm 0.12 0.11 0.12 0.12 R
152 | ERILT | REE-RELLA— |BUHRE,rEREL 4— 8H17H Bt A O ERBME LN =8, KRADHEIE
im 0.11 0.10 0.11 0.11
50cm 0.13 0.13 B
153 | BRI Z0i LA Ly E IR E 8H17H 1 12 Owgnmawr:m[rﬁ%mmﬂui
m . .
50cm 0.14 0.16 B
154 | ERILT Z0i ERILIT S/ 8 10 & st 8H16H 1 Y 0155%75’@5&@1&%[@%]@#5&"%
m . .
50cm 0.18 0.22 B
155 | ERILT Z0i EILTES R 8H218 B ERO-0] BREZE I0A8E
im 0.18 0.20
50cm 0.20 0.24 B
156 | ERILT Z0i BRIt R & s 8H218 1 s o B ERO-O] BREE I0A8E
m . .
50cm 0.09 0.09 0.08 0.09 0.09 0.10
157 | BBl ZDith i FE CXEE 42— 8A16H
1im 0.09 0.08 0.09 0.08 0.09 0.09
R 50cm 0.11 0.11 0.10 0.10 0.12 0.13
158 | ERILT Z0i B ELBATIELL— 88228
1im 0.10 0.10 0.10 0.10 0.12 0.13
50cm 0.08 0.12 0.08 0.09 0.13 0.12
159 |  EBLTH ZDith A FE TR 4— 88228
1im 0.08 0.12 0.08 0.08 0.12 0.12
70 12 e e 50cm 0.11 0.13 #h A O ERRAASEL N =th . KA DA B
160 | EBILT | MEBERRESST |[bAEHSD BA108 — P E—— ?ﬁ@ﬁ%] Rt & P
B . 50cm 0.09 0.09 0.09 0.08 0.10 0.09
161 B WEB®RIRESST | KBEACYHIST 88208
im 0.08 0.09 0.09 0.08 0.09 0.09
B 50cm 0.11 0.11 0.09 0.09 0.10 0.10
162 | EILT | MEBREESST |[BERVTTE—FHRE-E-FHE |sF2H
im 0.08 0.08 0.08 0.08 0.09 0.09

1/8




EERREMSFRE=2) VAT (RERUERFF11EDER
(ER30%5£8A16H~1083BEk)
[RF A K EH M FRAE (RETHRIT)
FEERKEXEAI (RFAHY)
BESS ZRARERATEE(L Sv/h)
- BEEZ
No. | BT 3 R & R BE | S0om BiAD LM (ch - BB 0D T 458) s
ool em | ®iom | sm | miom | sm | miom
AERE | AEHE | AERE | AEE | AR | B
50cm 0.08 0.09 0.11 0.10 0.10 0.11
163 | EBLH WERZRRESSDT |[MNREASEFHSE 8A22H
1m 0.08 0.09 0.11 0.10 0.10 0.10
50cm 0.10 0.14 0.08 0.09 [BtAD ] N165iTRLDDDE —FHK,
164 | EBILTH WER%E TELOODOE—Fit= 8A23H No.1661TIEL D DD E=ZFit LA
1m 0.12 0.13 0.09 0.09 [EEE] £L
50cm 0.10 0.14 0.09 0.11 [BtAD ] N164ITRLODDE—FHE,
165 | &R WERREIST |[TRLODOHE_FH#HS 8A23H No.1661THEL D DD E=ZFit LA
1m 0.12 0.13 0.10 0.10 [EEE] £L
50cm 0.10 0.14 0.10 His
g B = P - — [EAR ] No1641TRLODOHE—FHt=.
166 | BBt WERZRREIST [TRLODOE=FHE 8A23H No.1 6577 /L 0D (s 25— F 4t & 4
1m 0.12 0.13 0.10 [ EREZ ] &L
50cm 0.08 0.07 0.10 0.09 0.12 0.11
167 |  EBLH WERREIST |EBENE—REHSD 8A20H
1m 0.08 0.07 0.10 0.09 0.12 0.11
10 1 o — (e 50cm 0.10 0.09 0.09 0.08 [ERES ] ] FEALTLAED
168 | AR BRBRREIST |RBIEZREIST 8A208 - 009 009 008 008 No.1675E B /N — IR B 55— O B RE %55
) 50cm 0.15 0.09 0.09 0.10 0.15 0.17
169 | EBLH WRERREIST (ZBHNREHFD 8A17H
1m 0.16 0.09 0.09 0.10 0.15 0.16
50cm 0.08 0.08 0.08 0.08 0.13 0.13
170 | EBh WERREIST | RBEE—NREISD 8A21H
1m 0.07 0.08 0.08 0.08 0.12 0.12
50cm 0.08 0.08 0.10 0.09 0.11 0.11
17 LT WEREBRRESST | KBNREHSD 8A17H
1m 0.08 0.09 0.09 0.10 0.10 0.11
50cm 0.09 0.09 0.09 0.09 0.10 0.10
172 | EBuh WRERRESST |[KBINREHFD 8A22H
1m 0.09 0.09 0.08 0.08 0.10 0.10
) 50cm 0.09 0.09 0.09 0.09 0.12 0.12
173 | EBuh WRERREIST |[FRKNMNREHSD 8A21H
1m 0.09 0.09 0.09 0.09 0.11 0.11
. ) 50cm 0.07 0.06 0.08 0.07 0.11 0.11
174 B MERR INLUB/DNRESSD 8A17H
1m 0.07 0.08 0.07 0.07 0.10 0.11

2/8




EERREMFHRE=2)VRAE(RERUESRFF11EDHER
(ER30%5£8A16H~1083BEk)
FRF A K ER thx RAE (RETHHRYL)
BEEKEMERARE (EFHID
BESS R EERBIEME(L Sv/h)
= EES
No. | THETH 3 R & R BE | S0om BiAD LM (b 41RO F1918) s
ool em | ®iom | sm | miom | sm | miom
BERE | BEsE | BEee | Paee | BEee | Bass
50cm 0.11 0.11 0.09 0.09 0.13 0.14
175 i WERREYST |#INE—REHVST-EZREHST | 8A22H EE] IEFHICKYSHEADTHE
im 0.11 0.11 0.08 0.09 0.12 0.13
‘ 50cm 0.10 0.16 0.13 0.12 0.13 0.15
176 |  EBILH WERE®RIRESST (BAB/NREHSD 8A17H
im 0.11 0.19 0.14 0.12 0.12 0.15
‘ 50cm 0.12 0.13 0.11 0.12 0.10 0.10
177 | EBuH WRERREIST |[£BNREHTD 8A22H
im 0.12 0.13 0.11 0.12 0.10 0.10
50cm 0.12 0.12 0.08 0.09 0.13 014l B AD Il EES ] Ne1798iBAENE=
178 i WERREYST ([HANENE—REHST 8H218 BRESST N 1SOSAANE/INEZIREHST &
im 0.11 0.11 0.09 0.09 0.12 0.13|% 8
50cm 0.12 0.12 0.08 0.08 0.13 0.14| B A D 1L EES 1 No.1785 B A E/NE—
179 i WERREYST (HANENEZREHST 8H218 BRESST N 1SOSAANE/INEZIREHST &
im 0.11 0.11 0.08 0.09 0.12 0.13|% 8
500m 0.12 0.12 0.08 0.13 0.14|FTHH R
g |G e = =pEs5T [Ew A D I EEZE] N178EIBAE/INE—
180 EKU-IT'H ﬁ&ﬁ%fﬁLEon7j Eﬁ B b\EII\ = 5777 8H 218 LEL.E75js No.1 79§ﬁ E?ﬁ“&’]‘%:bahi77jt
1m 0.11 0.11 0.08 0.12 0.13|3t5
50cm 0.11 0.10 0.09 0.10 0.10 0.10
181 LT WREERREIST [SFIWNREHSD 8A21H
im 0.10 0.10 0.08 0.09 0.10 0.10
50 0.09 0.09 0.10 0.09 0.12 0.11 TR =l a —
82| MUT | MEERESST |REEZNE-RESST 8R208 [ oG T | MBS =R =
im 0.10 0.09 0.08 0.09 0.11 0.11|REITTEH
50 0.09 0.09 0.11 0.10 0.12 0.11 T = 2
183 | BT | REERESST |REE=INE-REHST 8A208 " g AD LEES ] Nots2RiB =
im 0.10 0.09 0.10 0.10 0.11 0.11|REITTEH
50cm 0.10 0.11 0.08 0.09 0.13 0.13
184 | EBILH WEREHBRRESST |KBNMNREHSD 8A17H
im 0.10 0.10 0.08 0.09 0.13 0.13
‘ 50cm 0.14 0.14 0.14 0.14 0.10 0.11
185 | &R WERZRRESST |(RENREHSD 8A17H
im 0.13 0.14 0.12 0.13 0.10 0.10
= REHST . RS 50 0.10 0.11 0.14 0.16 0.10 0.11
186 | BB | KR BRMENE-RESTT R=REY | sq00m [
e im 0.11 0.10 0.12 0.15 0.10 0.11

3/8




EERREMFHRE=2)VRAE(RERUESRFF11EDHER
(ER30%5£8A16H~1083BEk)
FRF A K ER thx RAE (RETHHRYL)
BEEKEMERARE (EFHID
BESS R EERBIEME(L Sv/h)
= EES
No. | THETH 3 R & R BE | S0om BiAD LM (b 41RO F1918) s
ool em | ®iom | sm | miom | sm | miom
BERE | BEsE | BEee | Paee | BEee | Bass
50cm 0.11 0.11 0.09 0.10 0.11 01T\ s AD 1 EREZ ] Noi8SEHE/INE =
187 | BRI MRERRESST (EHRNE-REISD 8H228 = has =H -
im 0.10 0.10 0.09 0.10 0.11 0.11[EY77 - BEREIIT LA
wymmssy ERRINEZRESST-BZREY 50cm ofr)  ofr} 008 008 011|  O1MirgupAm; ) ERE% ] Nets7amBUNE—
188 | &R WRBRREIST |25 8A22H o iaigieidy
= 7 im 0.10 0.10 0.08 0.08 0.11 0.11[EVFTEHA
= R 50 0.13 0.13 0.08 0.09 0.12 0.14
189 | BT | EREREssT |[ELEMETREITTBZREY | gga0g |
7 im 0.13 0.12 0.08 0.09 0.12 0.14
50cm 0.09 0.09 0.10 0.09 0.10 0.11
190 | EBTH WRERREIST |[FEINREHTD 8A21H
im 0.09 0.09 0.09 0.08 0.10 0.10
o | B | BERRESST |[TEMRESSY 8RB ovey oom oI 1A 012 OMimEs) S10BEIRFLIsmROT
im 0.08 0.06 0.10 0.13 0.11 0.13|1E
50cm 0.11 0.10 0.10 0.10 0.10
192 | EBLh WEBE®RIRESST |(BPNREHSD 8A21H [EE%] £10EIXIEHICKYRERTT
im 0.10 0.12 0.10 0.10 0.10
50cm 0.12 0.11 0.15 0.16 0.12 012| gy A D 1 EREZ ] NoAMARIBE —/INE—
193 | ARl WMRBRREIST | REEZNE—REHTD 8A20H ey — | e = -
= - im 0.12 0.11 0.14 0.14 0.12 0.12|REV7-BEREIST LA
% —INE—IBEAHST - ESIRE 50cm 0.12 0.11 0.09 0.08 0.12 012 gy A D [ EIREZ ] Nod93RRIEE — /s —
194 | BILF | mERREsSTY |XAR-NRE=REIST-HZRE| gg,0p i A0 193 =
= 937 im 0.12 0.11 0.09 0.08 0.12 0.12| REVI A
‘ 50cm 0.13 0.14 0.13 0.13 0.13 0.15
195 | &R WERREIST |[TREZNREISD 8A17H
im 0.12 0.13 0.11 0.12 0.12 0.14
‘ 50cm 0.09 0.10 0.11 0.12 0.12 0.14
196 | &R WERERIRESST |(ENREHFD 8A21H
im 0.11 0.10 0.11 0.12 0.12 0.15
50cm 0.09 0.09 0.09 0.09 0.10 0.10
197 | EBuh WREZRREISDT |[B#/NREHST 8A21H
im 0.09 0.08 0.09 0.08 0.10 0.10
50cm 017 0.18 0.09 0.09 [ AD ] No200BRiZIEBEFHFIOLM:
198 | AR Z 01 AFXEBESERTIN 8H22H A
im 0.15 0.17 0.08 0.08 EZ] mL
50cm 0.10 0.10 0.09 0.09 0.10 0.11
199 | BBl Z 01 BLUTAFErEFR 8A17H
im 0.10 0.09 0.10 0.09 0.10 0.10

4/8




EERREMSGRE=—FVRAE (REBUERFFE11EZER
(ER30%5£8A16H~1083BEk)
[RF A K EH M FRAE (RETHRIT)
FEERKEXEAI (RFAHY)
AESS ERHREFRAEE(L Sv/h)
- BEES
No. | THETH 3 R & R BE | S0om BiAD LM (b 41RO F1918) s
o 5@ | iom | sm | miom | sm | ®iom
HERE | AERE | AERE | AERE | BAESE | AEsE
50cm 0.17 0.18 0.09 0.11 [ B A ] No19SAFTIBE LT L/ NESH
200 | EBUT Z 01 BRIXIEEEMFIO 8A22H A
m 0.15 0.17 0.09 0.10 [EESE] &L
50cm 0.10 0.10 0.10 0.09 0.14 0.16
201 Bl Z 01 EERREEFEVY— 8A17H
1m 0.10 0.10 0.10 0.09 0.14 0.15
50cm 0.08 0.07 0.08 0.08 0.10 0.09
202 | EBUT Z 01 L EFE 8A16H
1m 0.08 0.09 0.09 0.09 0.10 0.10
50cm 0.10 0.10 0.08 0.08 0.15 0.16
203 | EBUT Z D1 REREXESEEFMLOWUD 8A16H
1m 0.09 0.10 0.08 0.09 0.13 0.15
50cm 0.10 0.10 0.10 0.10
204 | ERLTH Z D1 EACYNHR 88208 EE] &L
1m 0.10 0.10 0.09 0.10
50cm 0.12 0.12 0.09 0.10 0.09 0.10 -
205 | EBUT Z D4t HIEZZE 8A16H BEZE] N213[EXERVEDYLEA
1m 0.10 0.12 0.09 0.10 0.09 0.10
50cm 0.10 0.09 0.08 0.09
206 | EBLUT Z 01 REREBE/ \O—=x 8A17H EE] \L
1m 0.09 0.09 0.08 0.09
i ) 50cm 0.09 0.09 0.12 0.11
207 | ERLTH Z 01 MEE®HS5TAZ2 =T 8H16H EEE] \|L
1m 0.10 0.09 0.11 0.11
208 | AR ZDith [E3=1ba 8A21H " 7S
im 0.09 0.10 0.11 0.11 [EES] mL
i ) ) _ ) 50cm 0.13 0.14 0.12 0.12
209 | BT Z 01 MERETAH—EXEEFMZLIE | 88168 EE] &L
1m 0.13 0.13 0.13 0.12
50cm 0.09 0.10 0.08 0.10
210 | EBUT Z D4t B 8A16H EE] &L
1m 0.09 0.09 0.09 0.09
50cm 0.12 0.12 0.08 0.08
211 Bl Z D4t TIVLS 8A16H [EEZE] 8L
1m 0.12 0.10 0.08 0.08
212 | BB Z0A IEFRAREBRETAF—ER BR 168 [ Sl Futt A D EXBISUELN, KHOARE
im 0.10 0.11 [EES] mL

5/8




EEREREMEHRE=A) VAT (REEUEEREFE11E)FER
(ERK30E8A16B~10A3HEH)
FRF A K ER thx RAE (RETHHRYL)
BEEXEMERL (RFHID
BESS R EERBIEME(L Sv/h)
- EES
No. | THETH 3 R & R BE | S0om BiAD LM (b 41RO F1918) s
o 5@ | iom | sm | miom | sm | ®iom
NERE | HERE | BERE | HELE | BEsE | BEsR
50cm 0.09 0.11 0.11 0.12 0.09 0.10 a
213 | BT Z D4t HIFZZEVENHY 8A16H EZH ] No2050H £ 2EEEA
m 0.10 0.10 0.10 0.11 0.09 0.10
50 0.07 0.08
214 | BB oMt |HERESTFAH—ERKC 8A28 [ 3B AE LRS00, TR E
im 0.07 0.08 [EES] mL
) 50cm 0.10 0.10 0.08 0.08 0.10 0.10
215 | ERLT Z D4t MERETIY—EXEERN IS | 8A218
m 0.08 0.09 0.07 0.07 0.09 0.09
50cm 0.12 0.11 0.12 0.12
216 i ZDith REEMXBEEMIKBAIR 8H17H [EEE] &L
m 0.11 0.11 0.14 0.11
50cm 0.11 0.11 0.09 0.10 0.15 0.16
[ B8] UCA
. ) m 0.10 0.10 0.09 0.09 0.13 0.14
217 | BBl 70t WERFELISTUS g6l —rt——oA oA ——— -
50cm 0.09 0.10 )
[ %P1 U”’CB
m 0.09 0.10
. . 50cm 0.09 0.10 ity A O EKBIAGELV=8 . KEADABIFE
218 B ZDith EvanssJ 8H16H - 009 010 (ERE= ] ®L
) 50cm 0.11 0.12 0.08 0.08
219 | ERLT Z D4t MERETAH—ERUNYEMHE| 8A16H EREE ] &L
m 0.12 0.12 0.08 0.08
20| mw 20k T B of) 012 it A O ERBIASEL =80 KROAAE
=TT mHEE im 0.10 0.12 [EES] mL
50cm 0.12 0.12 0.08 0.10
221 i ZDith REBEMXBEERMLLEFEAE 8H20H EE] 8L
m 0.12 0.12 0.10 0.10
50cm 0.09 0.09 0.07 0.09 0.11 0.13
222 B ZDith Wwot=Y 8H16H
m 0.09 0.08 0.09 0.08 0.10 0.11
50cm 0.10 0.10 0.09 0.10
223 | BT Z 01 mEpEFE CRiE 24— 8A16H [EEZE] 8L
m 0.10 0.11 0.09 0.08
50cm 0.10 0.10 0.09 0.09
224 | BT Z D4t it FECXIEL 42— 8A16H EE] \L
m 0.09 0.11 0.08 0.09

6/8




EERREMSFRE=2) VAT (RERUERFF11EDER
(ER30%5£8A16H~1083BEk)
[RF A K EH M FRAE (RETHRIT)
FEERKEXEAI (RFAHY)
BESS ZRMRE A EE( 1 Sv/h)
- BEEZ
No. | THETH 3 R & R BE | S0om BiAD LM (b 41RO F1918) s
ool em | ®iom | sm | miom | sm | miom
AERE | AEHE | AERE | AEE | AR | B
50cm 0.10 0.11 0.09 0.10 0.11
225 | AR WRERREIST [FWNREHSD 8A21H E%] E10EIFIESICKYRERTT
1m 0.10 0.11 0.09 0.10 0.11
) 50cm 0.12 0.13 0.08 0.09
226 B WEREBRRESST |BEFENMNREHSD 8H22H EE] IEHFICKVAERT
1m 0.11 0.11 0.08 0.08
) 50cm 0.11 0.10 0.09 0.09 0.11 0.11
227 | AR WERZRRESST |ZHEF/NREHSD 8A21H
1m 0.11 0.11 0.09 0.09 0.11 0.11
) 50cm 0.09 0.12 0.08 0.09 0.08 0.11
228 | AR WRERREIST |FENREHSD 8H20H
1m 0.10 0.11 0.09 0.10 0.08 0.10
) 50cm 0.10 0.13 0.09 0.10 0.10 0.11
229 | AR WERRESST |[INRINREHSD 8A20H
1m 0.11 0.12 0.09 0.10 0.10 0.11
) 50cm 0.11 0.12 0.11 0.10 0.13 0.13
230 | AR WERREIST |BRENREHSD 8A20H
1m 0.12 0.11 0.10 0.10 0.13 0.13
) 50cm 0.10 0.12 0.10 0.09 0.10 0.10
231 LT WERREIST |[BrENE—REHSD 8A21H
1m 0.10 0.11 0.09 0.08 0.10 0.09
) . . 50cm 0.07 0.07 0.09 0.09 0.10 0.09
232 | AR BWERFELERE (Mt FELEE 8A21H
1m 0.07 0.07 0.09 0.09 0.10 0.09
) . . 50cm 0.08 0.09 0.08 0.07 0.09 0.10
233 | EBUT MERERFELHE BB/ EFELHE 8H20H
1m 0.07 0.09 0.07 0.08 0.09 0.10
) . . 50cm 0.09 0.11 0.08 0.08 0.09 0.10
234 | EBIUT MERERFELHE |RFE/MEIELHE 8H20H
1m 0.09 0.10 0.08 0.10 0.09 0.09
) . . 50cm 0.09 0.09 0.10 0.10 0.10 0.09
235 | EBIUT WERFELLE |ZH/MbEFELHE 8H20H
1m 0.09 0.09 0.10 0.09 0.09 0.09
) . . 50cm 0.10 0.10 0.09 0.10 0.10 0.11
236 | AR WRERFELHE |(HRB/MOEFELHE 8H22H
1m 0.09 0.09 0.09 0.09 0.10 0.10
) . N . 50cm 0.19 0.22 0.09 0.10 0.16 0.18
237 | EBUT MERERFELHE |BR/NMEFELHE 8H20H
1m 0.18 0.20 0.09 0.09 0.15 0.17

7/8




EEREREMEHRE=A) VAT (REEUEEREFE11E)FER
(ERK30E8A16B~10A3HEH)

RF N EE B0 RAED (RUHRYD
BERKEAEARR (RFHYD

BEEE 7R 8 B B ( 1 Sv/h)
No. | HETH 3 SR BE | S0om BieAR bl (b - 4JB Q) T 1) i
| % giom | 4@ | miom [ sm | miom
WERETAH—ERHTZ—BHE 50cm 0.08 0.09 Bt A O ELBIAELN =80, KRADHEIE
238 | AR Z 01 o 8R17H - 0.08 0.08 [BEEZ] &L
50cm 0.14 0.14 it A O EKRAELM=5 . KEDHHIE
239 i ZDith H<hH< 8H17H - 013 013 (ERE= ] ®L
50cm 0.11 0.12 it A O & KRAELM=5 . KEDHHIE
240 i ZDith hAk 8H17H - 012 013 (B ] ®L
- 50cm 0.09 0.09 it A O EKRAEL =5 . KEDHHIE
241 i ZDith 25— 8H20H =% K
im 0.09 0.09 [EES] mL
50cm 0.10 0.11 0.09 0.11 [ g A D] No208(E-I+E 2
242 i ZDith [Eol+ 1 8H21H - 7S
im 0.09 0.10 0.09 0.11 [EES] mL
N 50cm 0.09 0.08 ity A O EKBIAGELV=8 . KEADABIFE
243 | BT Z D1t FYRYSTMBITH 88208 - 008 009 (EpEs ] %L
B B 50cm 0.08 0.10 0.07 0.09 0.07 0.08
244 | BT Z 0t RERFXEELHTES 8H218
1im 0.08 0.09 0.07 0.08 0.07 0.08
WERETAH—ERVAMYE ALK 50cm 0.10 0.1 Bt A O ELBIAELN =80, KRADHEIE
245 AL sqolict = 8H22H - 010 0.10 [BEEZ] &L
. X 50cm 0.07 0.08 0.07
246 | EILT | WEBERREESST |[EREERESST 8H208 AR
1im 0.08 0.09 0.07

X MF1OEAEFRIEIE. TH29FE8A17EMNL9A29BIZEELE-MEEEREMSHRE=2) VAR (REBUEREE10E) IITH IT2ABRRE, TOMITOVNTIE., HERIZTHEHT 5,

8/8




